Chapter 8

Answers – HKAS 18 Revenue Recognition

(I)
Multiple Choice Questions

	1.
	D
	


	2.
	C
	If the right of return exists and there is no past experience to go on, HKAS 18 requires that the revenue be deferred.


	3.
	D
	The amount of revenue recognized would be for the month of September only. The rest should be deferred. [11/12 × (48 × $150) + 23/24 × (18 × $200)] = $10,050


	4.
	C
	Total gross profit on instalment sales = ($250,000 - $150,000) = $100,000
Gross profit realized in 2001 = $100,000 x ($100,000 / $250,000) = $40,000
Gross profit deferred = $100,000 – $40,000 = $60,000


	5.
	C
	When a customer pays in advance for goods that will be manufactured to the customers’ specification, the manufacturer should not recognize the revenue until the goods have been delivered to the buyer.


	6.
	D
	


(II)
Review Problems
1.
Interest income
Interest should be recognized on a time proportion basis that takes into account the effective yield on the asset. The effective yield on an asset is the rate of interest required to discount the stream of future cash receipts expected over the life of the asset to equate to the initial carrying amount of the asset. Interest revenue includes the amount of amortisation of any discount, premium or other difference between the initial carry amount of a debt security and its amount at maturity.

	
	$

	Value of bond at maturity
	1,000,000

	Purchase price of bond
	900,000

	Discount
	100,000


The discount has to be amortised over the two-year period, i.e. $50,000 per annum.

Interest coupon

	Annual interest receivable
	= $1,000,000 x 5%

	
	= $50,000


Interest income to be recognized for the year:

	
	31 December 1998
	31 December 1999

	
	$
	$

	Coupon interest
	50,000
	50,000

	Amortisation on discount
	50,000
	50,000

	
	100,000
	100,000


Royalty income

Royalties should be recognized on an accrual basis in accordance with the substance of the relevant agreement.

	
	31 December 1998
	31 December 1999

	No. of units produced
	110,000
	90,000

	Royalty per unit
	$1
	$1

	Royalty
	$110,000
	$90,000

	Royalty income take into account of minimum rent
	$110,000
	$100,000


Sales of goods

Product “V” was sold on consignment. Fasino Ltd’s receipt of the revenue from the consignment sales was contingent on the derivation of revenue by Soho Department Stores (the buyer) from its sale of the goods. Therefore Fasino Ltd should not recognize the revenue in 1998 until 1999.

Revenue is recognized only when it is probable that the economic benefits associated with the transaction will flow to the enterprise. It may be uncertain that a foreign government authority will grant permission to remit the consideration from a sale in a foreign country. When the permission is granted, the uncertainty is removed and revenue is recognized. The sale of Product “W” was thus recognized on 30 June 1999.

When goods are exchanged or swapped for goods which are of a similar nature and value, the exchange is not regarded as a transaction which generates revenue. Suppliers exchange stocks in various locations to fulfill demand on a timely basis in a particular location. When goods are sold in exchange for dissimilar goods, the exchange is regarded as a transaction which generates income.

The revenue is measured at the fair value of the goods received, adjusted by the amount of any cash or cash equivalents transferred. Thus the exchange of Product “X” generates revenue at time of exchange and Product “XX” generates revenue at time of sales.

Despite Product “Y” was shipped before the year end of 1998, the sales were not recognized as revenue because Fasino Ltd retained significant risks of ownership. The installation is a significant part of the contract and is incomplete.

The sales of Product “Z” were recognized as revenue on the date of sales. If an enterprise retains only an insignificant risk of ownership, the transaction is a sale and revenue is recognized.

	Product
	Date recognition of sale of goods
	Revenue to be recognized in 1998
	Revenue to be recognized in 1999

	
	
	$
	$

	V
	31 Jan 1999
	-
	90,000

	W
	30 Jun 1999
	-
	80,000

	X
	31 Dec 1998
	75,000
	-

	XX
	30 Jun 1999
	-
	80,000

	Y
	31 Jan 1999
	-
	60,000

	Z
	31 Dec 1998
	50,000
	-

	
	
	125,000
	310,000


2.
(a)(i)

Most merchandising companies sell finished products and recognize revenue at the point of sale. This is often identified as the moment when title legally passes from seller to purchaser. At the point of sale there is arm’s length transaction to measure reliably the amount of revenue recognized, and point-of-sale timing for revenue recognition is used by many firms, especially merchandising companies.

Four advantages of point-of-sale timing for revenue recognition:

(1)
It is a discernible event.

(2)
The seller has completed its part of the bargain; that is, the revenue has been earned with the passage of title when the goods are delivered.

(3)
Realisation has occurred because cash or cash equivalents have been received.

(4)
The seller’s costs have been incurred with the result that net income can be measured.

(a)(ii)

For service companies, accounting recognition of revenue approximates the earning process. The recognition of revenue for accounting purposes takes place during the period in which the services are rendered. Although it is theoretically possible to accrue revenue continuously as the services are rendered, for practical reasons revenue is usually accrued periodically with an emphasis on the appropriate period of recognition. Theoretically, revenue is properly recognized in the accounting period in which the revenue-generating activity takes place.

In some non-service and non-merchandising companies, revenue is recognized as the productive activity takes place instead of at a later period (as at the point of sale). The most common situation in which revenue is recognized as production takes place involves the application of percentage-of-completion accounting to long-term construction contracts. Under this procedure, revenue is approximated, based on degree of contract performance to date, and recorded as earned in the period in which the productive activity takes place.

(b)(i)

Revenue is the gross inflow of economic benefits during the period arising in the course of the ordinary activities of an enterprise when those inflows result in increases in equity, other than increases relating to contributions from equity participants.

(b)(ii)

When goods are sold in exchange for dissimilar goods or services, the exchange is regarded as a transaction which generates revenue. The revenue is measured at the fair value of the goods or services received, as adjusted by the amount of any cash or cash equivalents transferred. When the fair value of the goods or services received cannot be measured reliably, the revenue is measured at the fair value of the goods or services given up, as adjusted by the amount of any cash or cash equivalents transferred.

(c)(i)

Best Advice Ltd has two basic alternatives. It could recognize revenue according to the hours worked by the personnel, or according to the amounts billed.

In a situation where the company can estimate accurately the number of hours to be worked by each person and the rate at which those hours can be billed, revenue should be recognized on the basis of the hours worked by its personnel.

The recognition of revenue according to the amounts billed does not provide any conceptual advantage over the hours-worked alternative, but may be more convenient because it is based on information generated by the company’s accounting system.

(c)(ii)

When services are performed by an indeterminate number of acts over a specified period of time, income is recognized on a straight-line basis over the specified period unless some other better method is available. The initial fee should be deferred and recognized as revenue over the lifetime of the related membership by the straight-line method.

The continuing membership fees should be recognized as earned, i.e. each month as the member is obligated to pay them.

(c)(iii)

Francisco Ltd should recognize dividends from Ted Ltd in its 2001 accounts as the shareholders approved the dividends at the general meeting on 15 April 2001.

Francisco Ltd can recognize the dividends declared by Fed Ltd in its 2000 accounts, since a holding company can recognize dividends from a subsidiary at the end of the subsidiary’s financial period, even though these dividends are only formally declared afterwards. Francisco Ltd’s right to receive dividend payments from Fed Ltd is already established by its control over Fed Ltd.

3.
(a)(i)

HKAS 18 states that the revenue from rendering services should be recognised when the outcome of a transaction involving the rendering of services can be reliably estimated.

Revenue associated with the transaction should be recognised by reference to the stage of completion of the transaction at the balance sheet date and the outcome of the transaction.

The outcome of a transaction can be estimated reliably when all the following criteria, as specified in HKAS 18, have been met:

a.
the amount of revenue can be measured reliably;

b.
it is probable that the economic benefits associated with the transaction will flow to the enterprise;

c.
the stage of completion of the transaction at the balance sheet date can be measured reliably;

d.
the costs incurred in the transaction and the costs required to complete the transaction can be measure reliably.

Depending on the nature of service, the stage of completion of a transaction can be determined by (a) surveys of work performed; or (b) services performed to date as a proportion of the total services to be performed; or (c) the proportion of costs incurred to date to the estimated total costs of the transaction.

(a)(ii)

Under HKAS 18, revenue is recognised when it is probable that future economic benefits will flow to the enterprise and these benefits can be measured reliably; it is usually applied separately to each transaction.

Revenue from the sale of goods should be recognised when all the following criteria, as specified in HKAS 18, have been met:

a.
the enterprise has transferred to the buyer the significant risks and rewards of ownership of the goods;

b.
the enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold;

c.
it is probable that the economic benefits associated with the transaction will flow to the enterprise;

d.
the amount of revenue can be measured reliably; and

e.
the costs incurred or to be incurred in respect of the transaction can be reliably measured.

Revenue arising on the transaction should be recognised by reference to the agreement between the enterprise and the buyer and determined when an enterprise has transferred the significant risks and rewards of ownership to the buyer by the transfer of legal title or the passing of possession.

(b)

The journal entries required to record the installment sales transaction are:

	
	
	Dr ($)
	Cr ($)

	1 Jan 2004
	Bank
	200,000
	

	
	Accounts receivable
	338,000
	

	
	Sales
	
	538,000

	
	
	
	

	1 Jan 2005
	Bank
	200,000
	

	
	Accounts receivable
	
	178,600

	
	Interest income
	
	21,400

	
	
	
	

	1 Jan 2006
	Bank
	200,000
	

	
	Accounts receivable
	
	159,400

	
	Interest income
	
	40,600


Workings:

	Year
	Installment
	Discount factor
	Present value
	Interest

	
	$
	@12%
	$
	$

	2004
	200,000
	1.000
	200,000
	0

	2005
	200,000
	0.893
	178,600
	21,400

	2006
	200,000
	0.797
	159,400
	40,600

	
	
	
	538,000
	62,000


(c)

	
	
	Dr ($)
	Cr ($)

	1 Jan 2004
	Bank
	210,000
	

	
	Franchise revenue
	
	70,000

	
	Unearned franchise revenue
	
	140,000

	
	
	
	

	1 Jan 2004
	Bank
	25,000
	

	
	Service fee received
	
	25,000

	
	
	
	

	1 Jan 2005
	Unearned franchise revenue
	70,000
	

	
	Franchise revenue
	
	70,000

	
	
	
	

	1 Jan 2005
	Bank
	25,000
	

	
	Service see received
	
	25,000


4.
(a)

HKAS 18 defines revenue as “the gross inflow of economic benefits during the period arising in the course of the ordinary activities of an entity when those inflows result in increases in equity, other than increases relating to contributions from equity participants.

(i)
When there is an agreement between the entity and the buyer of the asset, revenue shall be measured at the fair value of the consideration received or receivable taking into consideration the amount of any trade discounts and volume rebates allowed by the entity.

(ii)
When goods or services are exchanged or swapped for goods and services which are of dissimilar nature and value, the revenue is measured at the fair value of the goods or services received, adjusted by the amount of any cash or cash equivalents transferred.

(b)(i)

(1)
the enterprise has transferred to the buyer the significant risks and rewards of ownership of the goods;

(2)
the enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold;

(3)
the amount of revenue can be measured reliably;

(4)
it is probably that the economic benefits associated with the transaction will flow to the enterprise; and

(5)
the costs incurred or to be incurred in respect of the transaction can be measured reliably.

(b)(ii)

HKAS 18 specifies that revenue arising from the use by others of enterprise assets yielding interest, royalties and dividends should be recognized when:

(1)
it is probable that the economic benefits associated with the transaction will flow to the enterprise; and

(2)
the amount of the revenue can be measured reliably.

(c)

(1)
In accordance with the requirements of HKAS 18, the initial fee of the rights from the franchise for $160,000 should be treated as a deferred item and should be recongised in future periods of four years as revenue. The annual fee of $50,000 should be recorded as revenue for each year. Therefore, the amount of revenue to be recognized as revenue for this transaction for the year ended 30 September 2005 shall be $90,000 ($160,000/4 years + $50,000).

(2)
HKAS 18 requires that fees and royalties paid for the use of an enterprise’s assets are normally recognized in accordance with the substance of the agreement. An assignment of rights for a lump sum of $500,000 under a non-cancellable contract which permits the distributor to use the right freely and where Bestwork Limited has no rights to access the benefit generated from the film is, in substance, a sale. In this case, revenue should be recognized at the time of sale, that is, the effective date of the agreement of 1 June 2005. The amount to be recognized as revenue for the year ended 30 September 2005 should be $500,000.

(3)
In accordance with HKAS 18, subscriptions received on 1 February 2005 for which magazines have not yet delivered to the customers should be treated as deferred income. An amount of $42,000 ($252,000 x 6/36) should be recognized as revenue for the year ended 30 September 2005 and the balance of $210,000 should be recognized as a liability.

5.
(a)

When the outcome of a transaction involving the rendering of services can be estimated reliably, in accordance with HKAS 18, revenue associates with the transactions shall be recognized using the stage of completion of the transaction at the balance sheet date.

HKAS 18 provides that the outcome of a transaction involving the rendering of services can be estimated reliably when the following conditions are satisfied:

(i)
the amount of revenue can be measure reliably;

(ii)
it is probable that the economic benefits associated with the transaction will flow to the enterprise;

(iii)
the stage of completion of the transaction at the balance sheet date can be measured reliably; and

(iv)
the costs incurred for the transaction and the costs to complete the transaction can be measured reliably.

HKAS 18 also requires that revenue shall be recognized only to the extent of the expenses recognized that are recoverable when the outcome of the transaction involved the rendering of services cannot be estimated reliably.

(b)
Based on the requirements of HKAS 18, revenue is normally recognized when the buyer accepts delivery, and installation and inspection are complete. In the case of Vkeir Limited, 80% of the total sales invoice value (that is, the price of furniture and fixtures) shall be recognized at the date of goods accepted by customers.

However, when the selling price of a product includes an identifiable amount for subsequent servicing; in accordance with the requirements of HKAS 18, that amount of subsequent servicing is deferred and recognized as revenue over the period during which the services is performed. The amount of deferred revenue is those which cover the expected costs of the services under the agreement, together with a reasonable profit on those services. In this case, 20% of the total sales invoice value shall be recognized when the furniture and fixtures have been successfully fitted at customers’ premises.

The existing accounting policy of recognizing sales revenue only when the furniture and fixtures had been successfully fitted is not correct in accordance with the requirements of HKAS 18. The revenue for sale of product, that is the furniture and fixtures, is deferred and this will lead to incorrect understatement of revenue at the year-end.

One of the underlying assumptions given in the “Framework for the Preparation and Presentation of Financial Statements” is the accrual basis. Under the accrual basis, the effects of transactions and other events are recognized when they occur, rather than when cash is received or paid; and they are recorded in the accounting records and reporting in the financial statements of the periods to which they relates.

Mr. Wan’s proposal to recognize sales revenue when customers order and pay for the goods, rather than when they have been fitted is clearly not in line with the accrual basis and the basic principle of revenue recognition. To record the sales transaction on cash basis will lead to wrong cut-off and misstatement of sales revenue.

(c)

For the sale of product, that is the furniture and fixtures, follow the same principle as discussed in part (b). Since sale occurs when the risks and rewards of ownership are transferred to the buyer; that is, at the time when the buyer accepts delivery, and installation and inspection have been completed.

Vkeir Limited is going to subcontract the services of fitting furniture and fittings by paying a fixed sum to the approved contractors. Also, the contractors are responsible for fixing the furniture and fixtures at customers’ premises and are reliable for compensating any errors made in fitting. Therefore, the risks and rewards of ownership have passed to the approved contractors who engage in such fitting works and such services are considered to have been sold to the contractors.

Following the discussion in part (a), revenue shall be recognized in this case because the following conditions have been met:

(i)
Vkeir Limited has transferred to the contractors the significant risks and rewards of ownership of the fitting services and the company will not be involved in the service when the job has been subcontracted to contractors;

(ii)
the amount of revenue and the costs incurred in respect of the sales transaction can be measured reliably because Vkeir Limited pay the contractors a fixed sum for each job; and

(iii)
it is probable that the economic benefits associated with the transaction will flow to Vkeir Limited because costs involved in subcontracting such fitting services will be less than maintaining a service team in the company for this purpose.

HKAS 18 states that revenue includes the gross inflows of economic benefits to the entity and shall be measured at the fair value of the consideration received or receivable. In the case of Vkeir Limited, the revenue shall be measured by deducting the fixed sum paid to the contractors engaged in the fitting services from 20% of the total sales invoice value.

6.
(a)

Revenue is recognised when, according to HKAS 18, it is probable that future economic benefits will flow to the entity and these benefits can be measured reliably and it is usually applied separately to each transaction. [1 mark]
In accordance with HKAS 18, revenue from the sale of goods should be recognized when all the criteria below, as specified in HKAS 18, have been met:
· the entity has transferred to the buyer the significant risks and rewards of ownership of the goods; [1 mark]
· the entity retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold; [1 mark]
· it is probable that the economic benefits associated with the transaction will flow to the entity; [1 mark]
· the amount of revenue can be measured reliably; [1 mark] and

· the costs incurred or to be incurred in respect of the transaction can be measured reliably. [1 mark]
[Any 4 out of the 5 points above, maximum 4 marks]
Therefore, revenue arising out of the transaction should be recognised by reference to the terms included in the sales contract between the seller and the buyer [1 mark] and determined when the seller has transferred the significant risks and rewards of ownership to the buyer by the transfer of legal title or the passing of possession. [1 mark]
(b)

Examples of situations in which the entity may retain the significant risks and rewards of ownership in the context of sale of goods are:
· The seller retains an obligation for unsatisfactory performance not covered by normal warranty provisions.

· The receipt of the revenue from the sale is contingent upon the amount of revenue derived by the buyer from its sale of the goods.

· The goods are shipped subject to installation and such a condition is included as a significant part of the contract which has not yet been completed by the entity.

· The buyer has the right to rescind the purchase based on a specific term in the sales contract and the seller is uncertain about the return of goods.

(1 mark for each example, maximum 2 marks)
(c)

The journal entries to record the instalment sales transaction are:

	
	
	Dr ($)
	Cr ($)
	Marks

	1 Jan 2007
	Bank
	150,000
	
	[1]

	
	Accounts receivable
	324,484
	
	[1]

	
	Sales
	
	492,484
	[2]

	
	
	
	
	

	31 Dec 2007
	Accounts receivable
	51,373
	
	[1]

	
	Interest income
	
	51,373
	[1]

	
	
	
	
	

	1 Jan 2008
	Bank
	150,000
	
	[1]

	
	Accounts receivable
	
	150,000
	[1]

	
	
	
	
	

	31 Dec 2008
	Accounts receivable
	36,578
	
	[1]

	
	Interest income
	
	36,578
	[1]

	
	
	
	
	

	1 Jan 2009
	Bank
	150,000
	
	[1]

	
	Accounts receivable
	
	150,000
	[1]

	
	
	
	
	

	31 Dec 2009
	Accounts receivable
	19,565
	
	[1]

	
	Interest income
	
	19,565
	[1]

	
	
	
	
	

	1 Jan 2010
	Bank
	150,000
	
	[1]

	
	Accounts receivable
	
	150,000
	[1]


[image: image1.emf]
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7
The facts of the case reveal that HKCyber has three separate sources of revenue: the sale of the option, the sale of the product, and the financing of the sale. Since the $50,000 option price was nonrefundable, it should be recognised either in 2002 or when it expired in 2003. The critical event for the sale of Powergoop is the exercise of the option. Since delivery of the formulas was made in 2003, it is clear that the sale should also be recorded in 2003. Once the option was exercised, HKCyber was assured that the sale would occur and was also certain as to the total revenues to be received and the costs incurred. Thus, the revenues from product sales in 2003 would include the $1,000,000 initial payment plus the discounted value of the five annuity payments of $1,800,000 each. From 2004 to 2008, HKCyber’s earnings would also include interest income under the deferred payment plan.

The development costs would be expensed in the period in which they were incurred. Because of the uncertainty associated with the ultimate recoverability of the costs, under current HKAS 38, research and development costs are expensed as incurred, unless cost recovery is guaranteed.

8
(a)(i)

All the following conditions have to be satisfied for an enterprise to recognize revenue from the sale of goods:

(1)
The enterprise has transferred to the buyer the significant risks and rewards of ownership of the goods.

(2)
The enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold.

(3)
The amount of revenue can be measured reliably.

(4)
It is probable that the economic benefits associated with the transaction will flow to the enterprise.

(5)
The costs incurred or to be incurred in respect of the transaction can be measured reliably.

(a)(ii)
Since the repurchase price is equal to the original selling price of the goods plus interest, U Limited is assured of a return of the original price plus interest and is not taking any significant greater risk than making a loan secured on the goods sold from T Limited. The risks and rewards inherent in the goods have been retained by T Limited, as it is expected that T Limited will repurchase the goods one year later. The arrangement is likely to be a secured borrowing in substance and T Limited should therefore not recognize any revenue.

(a)(iii)

If the repurchase price is based on the market value as at the date of exercise of the repurchase option, U Limited acquires both the opportunity to benefit from any increase in the value of the goods and the risk of loss due to an adverse change in its value. In that case, T Limited has transferred the risks and rewards of ownership to U Limited, and a sale has taken place which justifies the recognition of revenue on the date of sale.

(b)(i)

Although the consideration of the instalment sale is receivable in instalments, revenue attributable to the sales price, exclusive of interest, is recognized at the date of sale. The sale price is the present value of the consideration, determined by discounting the instalments receivable at the imputed rate of interest. Since the sale involves a financing agreement, the borrowing rate at the date of sale is an appropriate imputed rate of interest which is used as the discounted rate to calculate the present value of the instalment payments. The interest element is recognized as revenue as it is earned, on a time proportion basis that takes into account the imputed rate of interest.

(b)(ii)

	Year
	Instalment received on 31 December
	Present value (PV) factor
	PV of instalments
	Interest

	
	$
	
	$
	$

	2004
	150,000
	0.90909
	136,364
	13,636

	2005
	150,000
	0.82644
	123,966
	26,034

	2006
	150,000
	0.75131
	112,697
	37,303

	2007
	150,000
	0.68301
	102,452
	47,548

	
	600,000
	
	475,479
	124,521


The revenue to be recognized is the present value of the instalment payments. As a results, Q Limited should record $475,479 as the revenue from sale of the machine. The difference between the present value and the nominal amount of the instalment payments, $124,521, is recognized as interest revenue over the four years. Specifically, $13,636, $26,034, $37,303 and $47,548 respectively are recognized as interest revenue at 31 December 2004 to 2007.

(b)(iii)

One of the conditions for an enterprise to recognize revenue from the sale of goods is that the economic benefits associated with the transaction will probably flow to the enterprise. However, it is uncertain whether the foreign governmental authority in W Limited’s country will grant W Limited permission to remit the instalment payments to Q Limited. Therefore, Q Limited should not recognize any revenue from the sale until the permission is granted or until Q Limited receives the payments, whichever is earlier. In this case, the uncertainty is removed and revenue is recognized accordingly.

9.
(a)
According to HKAS 18, revenue can be recognised only when we are reasonably sure of receiving it and when we can reliably measure the amount of economic benefits related to the transaction that flow to the company. Since, the subscriber can claim a full refund unconditionally during the first three months of the subscription period, E-magazine can only recognise revenue based on the months of completed subscription service starting the end of the third month.

(b)
On 1 January 2000, the cash received should be recognised as unearned revenue, which is a current liability. Thus, the current ratio should remain the same as the same amount is added to the numerator (cash proceeds added to current assets) and denominator (unearned revenue to current liabilities).

10.
Travel.com’s practice contrasts with a normal travel agent’s practice, which only records the commission (only a small percentage of the ticket price) it receives as revenue.

The main incentive behind Travel.com’s practice is that as a start-up internet company, earnings per share are substantially smaller than price per share. To justify a high share price, the company is under pressure to inflate its total revenue.

Travel.com is stretching its definition of inventory. Since the airlines never transfer the risk of holding the tickets to Travel.com, meaning Travel.com can return unsold tickets to the airlines, it should not claim the seats as inventory and subsequently as cost of good sold when they are sold. Such a treatment is not consistent with the definition of asset in HKAS 1.

11.
HKAS 18 defines revenue as the gross inflow of economic benefits during the period arising in the course of the ordinary activities of an enterprise when those inflows result in increase in equity, other than increases relating to contributions from equity participates. In addition, the amount of revenue should be measured reliably at the fair value of the consideration received or receivable. Fair value is defined as the amount for which an asset could be exchanged, or a liability settled, between knowledgeable, willing parties in an arm’s length transaction.

However, HKAS 18 clearly states that when goods or services are exchanged or swapped for goods or services of a similar nature and value, no revenue is recognised since earning process is not considered to be complete. In the case of Communication Magazine, the advertising income from Orange Magazine was exchanged for similar services, i.e. advertisements in return placed in Orange Magazine. Thus, the earning process is not considered to be complete and thus no revenue should be recognised.

12.
(a)

Revenue form the sale of goods should be recognised when all the following conditions have been satisfied:

(1)
the enterprise has transferred to the buyer the significant risks and rewards of ownership of the goods;
(2)
the enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold;
(3)
the amount of revenue can be measured reliably;
(4)
it is probably that the economic benefits associated with the transaction will flow to the enterprise; and

(5)
the costs incurred or to be incurred in respect of the transaction can be measured reliably.
(b)

The prolonged credit period (450 days) raises questions on:

· At that point in time has Cherry transferred to the buyer the significant risks and rewards of ownership of the goods; and

· 
Whether it is probable that economic benefits associated with the transaction will flow to the enterprise.

In most retail sales, the transfer of the risks and rewards of ownership coincides with the transfer of the legal title or the passing of possession to the buyer. However, there are situations in which the seller may retain the significant risks and rewards of ownership. For example:

· When the seller retains an obligation for unsatisfactory performance not covered by normal warranty provisions;

· When the receipt of the revenue from a particular sale is contingent on the derivation of revenue by the buyer from its sale of the goods;

· When the goods are shipped subject to installation and the installation is a significant part of the contract which has not yet been completed by the seller;

· When the buyer has the right to rescind the purchase for a reason specified in the sales contract and the seller is uncertain about the probability of return.

It is not clear form the information given by the Assistant Sales Director whether customers will have the right to return the goods. Given their right to do so, it is reasonable to expect that customers who have not yet paid for their goods will be more likely to return them than those who have fully paid for their goods. The probability of goods being returned will, therefore, only become reasonably low once customers have paid the sales proceeds. Since the NP450 program is innovative, it is not possible to estimate how many customers will eventually return goods to the company. This suggests that our case needs to be distinguished from that of retailers who offer a refund policy to their customers. In the latter situation a retailer is usually able to reliably estimate the probability of goods being returned on the basis of previous experience and other relevant factors. In such a case revenue should normally be recognised at the point of sales and the liability for returns based on previous experience and other relevant factors should be separately recognised.

Revenue is recognised only when it is probable that the economic benefits or consideration associated with the transaction will flow to the enterprise. In most cases, a seller will not enter into a sale’s transaction unless the seller is satisfied that it is probable that economic benefits will be received, for example, by requesting documentary credit from banks or by granting credit to long established customers.
In some cases, however, it may not be probable that the economic benefits or consideration associated with the transaction will flow to the enterprise until the consideration is received or until an uncertainty has been removed.
It is not clear from the information given by the Assistant Sales Director whether the customers will be required to provide a bank guarantee or other forms of assurance for the payment of the sales proceeds. In the absence of such assurance, the company is accepting an unusually high credit risk by delivering goods to a retail customer. It would not be appropriate therefore for the company to recognize revenue for goods delivered to customers.
The uncertainty as to whether economic benefits will flow to the company in determining whether a sales transaction should be recognised should be distinguished from the uncertainty arising from the collectability of an amount already included in revenue. Any uncollected amount or amount in respect of which recovery has ceased to be probable should be recognised as an expense, rather than as a adjustment to the amount of revenue originally recognised.
Based on the above, I would consider that it is not appropriate to recognize a sale on delivery of the goods sold under the NP450 program. Sales should be recognised at the time the company receives the sales proceeds.
(c)

Revenue should be measured at the fair value of the consideration received or receivable. When the inflow of cash or cash equivalents is deferred, the fair value of the consideration may be less than the nominal amount of cash received or receivable.
In such a case, the difference between the fair value and the nominal amount of the consideration is recognised as interest revenue.
According to HKAS 18, interest revenue should be recognised when:

· 
It is probable that the economic benefits associated with the transaction will flow to the enterprise; and

· The amount of the revenue can be measured reliably.

Although the Assistant Sales Director estimated that about 10% of the customers will opt to pay after the 450 day credit period, this estimate is unlikely to be reliable for the purpose of revenue recognition under HKAS 18.
Moreover, it is arguable whether the interest can be considered as arising from deferred settlement, since it has been concluded above that sales should not be recognised until payment has been received from the customers.
13.
(a)

HKAS 18 “Revenue” states that revenue from the sale of goods should be recognized when all the following conditions have been satisfied:

(i)
The enterprise has transferred to the buyer the significant risks and rewards of ownership of the goods.

(ii)
The enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold.

(iii)
The amount of revenue can be measured reliably.

(iv)
It is probable that the economic benefits associated with the transactions will flow to the enterprise.

(v)
The costs incurred or to be incurred in respect of the transaction can be measured reliably.

(b)

(i)
It is normal for a publisher to charge for a magazine subscription in advance, often one year. It is therefore normal to defer the subscription income and match it with the expenditure of each issue of magazine. It may however be acceptable to recognize a portion of the subscriptions immediately where this can be matched with advertising expenditure incurred to increase the number of subscribers.

(ii)
When a car dealer sells a car on credit terms, there are two parts to the transaction. Firstly, there is the profit on the difference between the cost of the car and the selling price, and secondly there is the receipt of interest. It would be normal to recognize the profit on sale of the car at the time of sale, rather than over the credit period, but the total interest to be paid should be recognized over the credit period rather than at the time of sale. In this way, the interest received can be matched with the cost of finance to the car dealer.

(iii)
The total profit estimated to arise on the contract should be assessed, and a calculation made of the portion of that total profit that relates to the work performed to date.

In order to arrive at total profit, it will be necessary to know the total costs to date and to make a prudent estimate of future costs, including any future cost increases and the need for rectification work. The sale value of the contract should be known, unless it is cost plus contract, in which case approval of the costs incurred to date should be obtained from the customer.

In establishing the amount if the contract performed to date, it may be necessary to obtain certificates from appropriate technical experts, e.g. chartered surveyors or engineers.

14.
The revenue of a business is its income, and this must not be confused with revenue expenditure which is the cost incurred in earning that income. The general rule for the recognition of revenue is governed by the concept of prudence and accruals. These concepts state that no profit can be taken to the credit of the profit and loss account unless it is certain that it has been earned, but that provision must be made for all possible losses which could arise from transactions within a period. The recognition of revenue determines when profit from a transaction can safely be considered earned. The general rule is that when a sale is made, one asset, inventories, is exchanged for another asset, a debt, or cash, and the difference in value between these two assets is a profit. The point at which a sale is made depends on the terms of the contract between the parties, but once goods delivered have been accepted by the buyer, the sale is certain, and there is no need to wait until the price is paid in cash before recognizing the revenue.

Several exceptions to this general rule may include:

(a)
Long-term building contracts. In this case profit is taken before completion of the job, on the basis of an architect’s certificate for work completed to date. It would be wrong to take all the profit of a five-year job to the profit and loss account for the one year when the job was completed.

(b)
Cash basis. If payment of the price is so doubtful as to be considered a critical event in the completion of the sale, then revenue can only be recognized at this point.

(c)
Accretion during production. Accretion is the increase in value resulting from natural growth or aging processes. For example, Timberland and nursery stock increase in value as the trees and plants grow. Some wines improve with age. The value of this items increases slowly during the production process. A profit of this type should be recognized but it cannot be distributed.

15.
(a)

This is basically sale of goods and settlement by installment. Revenue from sale of goods should be recognised when all the following conditions have been satisfied:

(i)
The enterprise has transferred to the buyer the significant risks and rewards of ownership of the goods;

(ii)
The enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold;

(iii)
The amount of revenue can be measured reliably;

(iv)
It is probable that the economic benefits associated with the transaction will flow to the enterprise; and

(v)
The cost incurred or to be incurred in respect of the transaction can be measured reliably.

Also, the company should ascertain the revenue could be collected, if not, provision for doubtful debts should be made.

(b)

Revenue is due primarily to an increase in the value of the total asset of the firm with the concurrent increase in capital. If there is no inflow of asset value that can be objectively determined, there is no revenue. Revenue could not be calculated if the enhancement in value of the assets were not subject to objective measurement.

The revenue recognition criteria are formulated to help the preparers of financial statements decide what sufficient and objective evidence is, that is, what type of evidence should be required before a given amount of revenue or gain to be recognised with confidence. Recognition criteria are in fact responded to the desire for both reliable and relevant accounting information.

(c)

Income encompasses both revenue and gains. Revenue is income that arises in the course of ordinary activities of an enterprise and is referred to by a variety of different names including sales, fees, interest, dividends and royalties. Gains are the income other than from ordinary activities such as profit from sales of fixed assets, etc.

(d)

Assets and liabilities cannot offset except when offsetting is required and permitted and all the following conditions are met:

(i)
The reporting enterprise and another party owe each other determinable monetary amounts, denominated either in the same currency, or in different but freely convertible currencies.

(ii)
The reporting enterprise has the ability to insist on a net settlement.

(iii)
The reporting enterprise’s ability to insist on a net settlement is assured beyond doubt.

16.
(a)

Problems of revenue recognition in accounting arise from the requirement to produce financial statements for specific periods of reporting. Consequently accounting principles and practices have evolved which focus on when and at what value transactions should be recognised in financial statements. Annual reporting creates artificial periods that are not related to the natural operating cycle of enterprises. A typical operating cycle (for a manufacturing company) would comprise of acquiring goods or raw materials from which a saleable product is manufactured, at some stage orders would be obtained for these goods and they would then be delivered to and accepted by customers. The collection of cash for these sales is often considered to be the end of this process, but it should be borne in mind that in some cases further risks can exist in relation to product warranties or other after-sale commitments. The critical event theory argues that there comes a stage in the operating cycle, beyond which there is either no further significant risks or uncertainties or that they can be estimated with sufficient accuracy to enable revenue to be recognised. The point at which there remain no further risks is referred to as the critical event. For most transactions the critical event is synonymous with full performance, but in theory, the critical event could occur at almost any point in the operating cycle.

The traditional view of determining profit involves matching revenues earned with the related cost of earning those revenues. This involves the use of the accruals, matching and prudence concept, with prudence being closely related to the principle of realisation. Under this approach the balance sheet is effectively a statement of unexpired costs and undischarged liabilities.

In its Framework, the IASC advocates a different approach, it takes a balance sheet approach to the process of revenue recognition. It chooses to define the elements of financial statements, principally assets and liabilities, and uses these to determine income (gains) and expenses (losses). Recognition of gains and losses takes place when there is an increase or decrease in equity other than from contributions to, or withdrawals of, equity. Thus increases in economic benefits in the form of enhancements of assets or decreases in liabilities result in income, and decreases in economic benefits in the form of outflows or depletions of assets or incurrences of liabilities results in losses (expenses). Recognition is the incorporation of an item in the financial statements. It involves the depiction of the item in words and at a monetary amount. For a transaction to be recognised as giving rise to a new asset or liability, or to add to an existing one it must meet the following recognition criteria:

(i)
it is probable that any future economic benefit associated with the item will flow to the enterprise; and

(ii)
the item has a cost or value that can be measured with reliability.

(b)

Acquisition of goods or raw materials:

For most industries this event is a routine occurrence that could not be considered as critical. However where this is a very difficult task, perhaps due the rarity or scarcity of materials, then it may be critical. A rare practical example of this is in the extraction of precious metals e.g. gold mining. Because gold is a valuable and readily marketable commodity the real difficulty in deriving income from it is obtaining it, so this is the critical event. A logical progression of this point would be to say that any industry whose products are normally sold on a commodities market could consider the obtaining of the product to be the critical event. Such industries may include, for example, growing coffee beans.

During the manufacture or production of goods:

Again for most industries this is not the critical event. Normally there would be far too many uncertainties remaining in the operating cycle. For example the manufacturing process could be flawed and therefore not produce saleable goods. Even if the goods are manufactured properly, it does not necessarily mean someone will buy them. It could be argued that where there is a firm order for the goods this would overcome some of the uncertainties, but it would still be imprudent to recognise firm orders as sales. There are however some industries where, due to a long production period, revenues are recognised during the production or manufacturing period. The most common example of this is the percentage of completion method of profit recognition for construction contracts under HKAS 11 “Construction Contracts”. Where companies adopt this approach to revenue (and profit) recognition it is generally referred to as the accretion approach.

Delivery/acceptance of the goods:

For the vast majority of businesses this is the point at which revenue is recognised, and it usually coincides with the transfer of the legal title to the goods and represents the point of full performance. Although there may be some uncertainties beyond this point (for example, the goods may prove to be faulty or the customer may not be able to pay for them), these can usually be quantified and provided for with reasonable accuracy based on past experience.

When a condition has been satisfied after the goods have been delivered:

The most common occurrence of this type of sale is where the customer has the right to return goods and not incur a liability for them. In most cases the condition is the passage of time (e.g. goods may be returned within three months of delivery), but it may also occur in relation to some other event such as their subsequent resale to another party. Traditionally with this type of sale, its recognition is delayed until the condition has been met, however one could argue that the substance of these transactions should be considered. Although a customer may have the right to return goods, if it can be demonstrated that in practice this never actually occurs, then recognising the sale before the expiry of the return period could be justified. Another example of this type of condition is where the terms of a sale of say an item of equipment required the seller to install and test the equipment. If this involves significant expense or risk then recognition of this type of sale would be deferred until completion of the installation.

Collection of cash:

For most (credit) sales the risk of non-payment is relatively low. Revenue recognition would only be delayed to the point of receipt of cash if its collection was perceived to be particularly difficult or risky. Revenues (and profits) from high risk credit sale agreements may be examples of this. Another possibility is sales made to risky overseas countries/customers, particularly if they are in non-convertible currencies or the country has strict exchange controls.

Expiry of guarantees/warranties:

This serves as a reminder that not all the risks and associated costs are resolved when cash is received. For some products such costs can be significant (e.g. with the supply of new motor vehicles or rectification work on construction contracts); however it is normally possible to reliably estimate these costs and provide for them at the time of the sale. It would be unrealistic, and may cause distortions, if revenues were not recognised until such obligations had elapsed.

(c)(i)

Although this agreement may be worded as a sale, and even if the title to the goods passes to Wholesaler, it seems clear that this is not a sale – it is a secured loan. Therefore Jenson should not treat the income from Wholesaler as revenue, but instead as a loan in its balance sheet. The goods should continue to be recognised as inventory on the balance sheet, and accrued interest of $3,150 ($35,000 x 12% x 9/12) should be provided for in the income statement.

(c)(ii)

It appears that the ongoing fees after the first initial payment are insufficient to cover Jenson’s servicing cost and provide a reasonable profit. In these circumstances HKAS 18 “Revenue” requires part of the initial fee of $50,000 to be deferred and recognised in future periods as the servicing costs are incurred. As there is a requirement to earn a (reasonable) profit of 20% on revenues, with ongoing servicing costs of $8,000, revenues of $10,000 would need to be recognised in the next four years. The actual fees receivable are $5,000, therefore Jenson will have to defer $20,000 ($5,000 x four years) of the initial fee. Thus in the year to 31 March 2000 Jenson would recognise $30,000 ($50,000 – $20,000) of the initial franchise fee.
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